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(1) 2500ml + 500 ml =3000ml =31/
(2) 750 ml + 250 ml = rrreeeeeenens = vvereesennes
(3) 1500 ml + 3500 ml = .eeeeennne. = reeeeeeesnes
(4) 3250ml + 750 ml = ececeeesenes = veeeeeeeenees
(5) 1300 ml + 2700 ml = .oeonnnen = eeeeeeeeens
2 O DOSID.
(1) (2) 3)
I ml / ml [ ml
1 400 3 600 2 700
+1 100 +1 200 +1 500
(4) 5) (6)
I ml I ml [ ml
2 515 2 625 2 800
+3 750 +1 730 +1 275
3 o8 »ox>.
(1) (2) 3)
I ml [ ml I ml
5 500 2 300 3 750
-3 250 -1 100 -1 500
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(4) (5) (6)

I ml [ ml [ ml
5 125 3 475 4 750
-2 225 -1 750 -1 900
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